Worksheet 6: The Case of The Blue Diamond

A.Choose the right words to finish the sentences.

2. The Countess’s
maid told me!

1. Let's have a
dinner!

3. | putitin the goose at my
sister's house. But she had
two birds with black tails!

. We know it was
you!!

6. Please don't tell
the police!

7. How did you know
about the diamond?

a) Holms says to Ryder .........

b) .......... Holmes asks Ryder.

c) Ryder answers ...........

d) Then Ryder tells Holmes ...........

e) Ryder requests Holmes ..........

f) says Holmes to Ryder angrily.
g) says Holmes to Watson happily.

B. Complete the puzzle below using the following words.

decide, truth, solution, tail, witness, arrest, police officers, feel sorry, floor, neck




Puzzle:
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C. Fill in the blanks using the same words of the puzzle (B):

a. Whydoes Holmes to help Ryder?

b. Doeshe for that young and unhappy man?

c. Intheendit's always goodto tellthe

d. Itthink don’t have an easy job.

e. A good detective findsthe to every case.

f. Henry Baker’s goose was white with a black _

g. Thepolicedont _ Ryder because he leaves England.

h. Withno _ to speak in court, the police can’t put Horner in prison.
i. Rydergetsonthe = at Holme's feet.

j- Ryder puts the diamond down the goose’'s _

Best of luck! :)



